

UNIVERSITY OF THE PHILIPPINES

LOS BANOS Los Banos, IV-A VAT Reg. TIN: 000-864-006-00004

Request for Quotation/ Bid Form (Technical Specifications)
OFFICE OF THE VICE CHANCELLOR FOR PLANNING AND DEVELOPMENT

UPLB BAC SECRETARIAT BY: _ DATE: \2 13 2033 DEC 18 2023 UPLB-RQ- 12-155-23-1-loam DEADLNE OF SUBMISSION

UPLB-RQ-	
DEADLINE OF SUBMISSION:	

uppliers Name:	Date	December 09, 2023
	Fund Code:	C0003527 - UPLB 9151038
	MOP:	Competitive Bidding
	Contact No:	049 5762625
	Contact Person	Engr. Ralph M. Romero

Please quote your lowest price on the Item/s listed below, subject to the General Conditions below.

- 1. Bidders shall provide correct and accurate information required in this form. All entries must be typewritten or in print and properly accomplished. Do not leave blank entries, put N/A for not applicable.
- Price quotation/s to be denominated in Philippine Peso shall include all taxes, duties, and/ or levies payable.
 Bidders must indicate the BRAND and MODEL NUMBER for equipment and its accessories or peripherals. Evidence shall be in the form of manufacturer's un-amended sale literature, unconditional statement of specification and compliance issued by the manufacturer and sample.
 Quotation through fax/email is acceptable. Winning bidder shall submit original signed RQ before issuance of Puchase order (P.O.).

- Quotations exceeding the Appoved Budget for Contract shall be rejected.
 Documentary requirements per Memorandum No. 03 Series of 2017 shall be attached upon submission of the quotation 7. Others:

ITEM No.	GENERAL NAME OF THE	REQUIRED SPECIFICATIONS	UNIT OF MEASURE	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)
1	ACRYLIC LATEX PAINT	Semi-gloss; UPLB Beige Color; Factory Pre-mix; premium quality	gallon	2	920.00	1,840.00				
2	BIDET SPRAY KIT	Stainless Steel, 1.2m long metal hose with mounting accessories	set	8	1,380.00	11,040.00				
3	CEILAST PVC LAMINATED BOARD	2' x 4'	piece	25	379.00	9,475.00				
4	CIRCUIT BREAKER	20-Amp, 2P, 220V Plug-in Type	piece	1	1,081.00	1,081.00				
5	CIRCUIT BREAKER	30-Amp, 2P, 220V Plug-in Type	plece	1	1,081.00	1,081.00				
6	CIRCUIT BREAKER	40-Amp, 2P, 220V Plug-in Type	piece	1	1,081.00	1,081.00				
7	CO W/ GROUND FAULT CURRENT INTERRUPTOR (GFCI)	w/ LED INDICATOR LIGHT. 20A- 240V Tamper Resistant, SINGLE, UL Listed. Universal Slot	set	2	2,300.00	4,600.00				
8	COTTON GLOVES	Ordinary, 2 pcs/set	set	8	29.00	232.00				
9	CROSS RUNNER TEE	4', Powder Coated Finish, Standard	piece	80	98.00	7,840.00				
10	CUBICLE PARTITION PANEL COAT HOOK	Nylon, Compatible to Phenolic Board	piece	9	92.00	828.00				
11	CUBICLE PARTITION PANEL DOOR KNOB	Nylon, Compatible to Phenolic Board	piece	8	202.00	1,616.00				
12	CUBICLE PARTITION PANEL FOOTING	Nylon, Compatible to Phenolic Board	piece	22	518.00	11,396.00				
13	CUBICLE PARTITION PANEL HEAD RAIL	3m, Compatible to Phenolic Board	plece	3	2,875.00	8,625.00				
14	CUBICLE PARTITION PANEL HINGES	Nylon, Compatible to Phenolic Board	piece	16	230.00	3,680.00				
15	CUBICLE PARTITION PANEL LOCKSET	(Occupant Indicator), Nylo, Compatible to Phenolic Board	set	8	230.00	1,840.00				
16	CUBICLE PARTITION PANEL U-CHANNEL	6', Compatible to Phenolic Board	piece	20	1,380.00	27,600.00				
17	DEFORMED BAR	10mmØ x 6m, PNS Grade 230, w=0.617 kg/m	piece	25	219.00	5,475.00				
18	DOOR CLOSER	Heavy Duty, Capacity: 40-65 kg door weight, 900 - 950 mm door width, 0 - 90 degrees operating angle, and 500,000 cycles tested	piece	4	1,265.00	5,060.00				
19	DOUBLE TUBULAR DEADBOLT LOCKSET	Brass Finish , Adjustable Backset 60-70mm, Heavy Duty	set	4	575.00	2,300.00				
20	ELASTOMERIC SEALANT	Premium Quality	liter	4	748.00	2,992.00				
21	EMPTY SACK	50kg capacity	piece	50	18.00	900.00			-	
22	EPOXY PRIMER	Premium Grade, w/ Catalyst	liter	2	345.00	690.00		-	+	
23	EXHAUST FAN	Wall Mounted w/ Automatic Louver, 14"Ø, 220V	plece	2	1,725.00	3,450.00				
24	EXHAUST FAN	Celling Cassette Type, 12" x 12", 3kg, 60Hz, 38W, case size 32.3 x 16.9 x 32 90 (cm) , 220V	piece	4	1,840.00	7,360.00				
25	EXHAUST PIPE HOOD	w/ screen, 4" Ø Stainless Steel w/ Complete Screws and Accessories	piece	2	1,035.00	2,070.00				

26	FACIAL MIRROR	1/4" thk x 1.2m x 0.9m, w/ 1/4" thk Marine Plywood Sheathing (provide felt cloth backing) & Standard Aluminum Edge Frame Including Mounting Bracket & Appropriate Screw w/ PVC Expanding Shield	set	2	4,600.00	9,200.00				
27	FACIAL MIRROR	1/4" thk x 2.7m x 0.9m, w/ 1/4" thk Marine Plywood Sheathing (provide felt cloth backing) & Standard Aluminum Edge Frame Including Mounting Bracket & Appropriate Scree w/ PVC Expanding Shield	set	2	7,475.00	14,950.00				
28	FLAT LATEX PAINT	White, Premium Quality	gallon	2	759.00	1,518.00				
29	FLAT WALL ENAMEL PAINT	White, Premium Quality	gallon	2	897.00	1,794.00				
30	FLEXIBLE CEMENTITIOUS WATERPROOFING	Acrylic polymer, tough, elastic, waterproof, UV resistant seam free membrane	gallon	2	1,380.00	2,760.00				
31	FLOOR CLEAN OUT	with adapter, 4", Brass, Heavy	piece	3	1,725.00	5,175.00				
32	FLOOR DRAIN	Duty, Countersunk 4" x 4", stainless type 304 with	piece	5	115.00	575.00		1		
	STRAINER FLOOR DRAIN	screws, 6" x 6", stainless type 304 with	Market Company	-		100//01		+		+
33	STRAINER	screws,	plece	3	345.00	1,035.00		-	-	-
34	FLOOR TILES	Monteclaro Gris, Unglazed, 300mm x 600mm	plece	500	218.00	109,000.00				
35	FLOOR TILE GROUT	Black, 2kg/bag, premium brand	bag	1	115.00	115.00				
36	G.I. TIE WIRE	Ga. #16	kg	5	115.00	575.00		-		
37	GLAZING PUTTY	for enamel-painted wood, alkyd- type	gallon	2	805.00	1,610.00				
38	JET HAND DRYER	Color: White; Dimension(cm): (L)25cm X (W)17.5cm X (H)48.5cm; 1400-1650 watts (single phase);105 m/s wind speed; 220-240V voltage; Brush motor; Up to 150mm sensing distance; IPX1 protection class; With water collection tray; Curvaceous body design; Net weight 4.3 kgs.; 2 Years Motor Warranty	piece	3	9,085.00	27,255.00				
39	JUNCTION BOX WITH	PVC, 4" x 4", Deep Type	piece	10	69.00	690.00				
	COVER LACQUER THINNER	Premium Grade	gallon	2	460.00	920.00			1	
41	LAVATORY	Under Counter Type Wash Basin, 600L x 422W x 209H with Complete Accessories including Bracket, etc. (SEE SAMPLE AT OVCPD)	set	7	9,775.00	68,425.00				
42	LAVATORY COUNTER TOP SOLID SURFACE GRANITE	Full Slab Type, Golden Brown, 70cm x 3m x 1.2cm thk	piece	4	17,250.00	69,000.00				
43	LAVATORY P-TRAP	Brass P-O-Plug x 6", Brass CP, Shallow Flange/Die Cast Nuts, 1- 1/4" CP Rubber Joint, with cleanout (SEE SAMPLE AT OVCPD)	set	7	633.00	4,431.00				
44	LED BOX-TYPE CASING	Single, 600mm (24")	piece	7	345.00	2,415.00				
45	LED BULB	6" Ø, 750 Lm, 10W, Recessed,	set	25	345.00	8,625.00				
11/2		Warm White 900Lm 10W-220V, WHITE, 600		7	403.00	2,821.00		1	1	
46	LIQUID NAIL	mm (24") 10 oz/296 ml per cartridge. Heavy Duty Construction	plece	2	288.00	576.00				
	The second secon	CHESCHOLD IN SECUNDATION OF THE PROPERTY OF TH	11872000	42	97.00	1,044.00		-	-	+
48	LOOSE PIN HINGE	3"x 3", Brass, Heavy Duty 12', Powder Coated Finish,	plece	12	87.00 202.00	3,030.00				
49	MAIN RUNNER TEE	Standard		-				1		
50	PORTLAND CEMENT	TYPE I (Unblended), 40kg/bag	bag	100	311.00	31,100.00	- III		-	-
51	PPR FITTING	20mmø (1/2" ø) Elbow 90°, ISO 15874,	plece	20	18.00	360.00			-	
52	PPR FITTING	20mmø (1/2" ø) Tee, ISO 15874	plece	20	18.00	360.00				
53	PPR FITTING	20mmø (1/2" ø) Gate Valve, ISO 15874	plece	4	391.00	1,564.00				
54	PPR FITTING	20mms (1/2" ø) End Cap, ISO	piece	20	12.00	240.00				
55	PPR FITTING	15874 20mm (1/2" ø) Coupling, ISO 15874	piece	20	14.00	280.00				
56	PPR FITTING	20mms (1/2" s) Plug, ISO	piece	20	12.00	240.00				
57	PPR FITTING	15874 Elbow, 20mm ø x 1/2" ø threaded, female, ISO 15874	piece	20	121.00	2,420.00				
58	PPR FITTING	Tee, 20mm s x 1/2" s threaded,	piece	20	144.00	2,880.00				
01000		female, ISO 15874 Adaptor, 20mm ø x 1/2" ø		20	115.00	2,300.00				
59	PPR FITTING	threaded, female, ISO 15874 Adaptor, 20mm s x 1/2" s	plece	-						1
60	- HONORAN CONTRACT	threaded, male, ISO 15874	piece	20	138.00	2,760.00				
61	PPR PIPE	thk. x 4m, PNS20, ISO 15874	plece	10	230.00					
62	PULL BAR W/ PLATE	4"W x 12"L, Stainless Steel, w/ 4 Corner Holes and Metal Screw	piece	4	978.00	3,912.00				

	T	I		_	T T				T	T
63	PUSH PLATE	4"W x 12"L, Stainless Steel, w/ 4 Corner Holes and Metal Screw	piece	4	690.00	2,760.00				
64	PUTTY KNIFE (PALETA)	4"	piece	6	46.00	276.00				
65	PUTTY KNIFE (PALETA)	6"	piece	6	58.00	348.00				
66	PVC ADAPTOR	20mmØ, 80 Joules Izod Impact, 5MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14	plece	20	18.00	360.00				
67	PVC ELECTRICAL BUSHING & G.I. LOCK NUT	20mmØ	set	20	18.00	360.00				
68	PVC ELECTRICAL COUPLING	20mmØ, 80 Joules Izod Impact, 5MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14	plece	20	14.00	280.00				
69	PVC ELECTRICAL ELBOW	20mmØ x 90° Bend, Long Sweep, Thick Wall, Powerguard, 80 Joules Izod Impact, 5MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14	plece	20	29.00	580.00				
70	PVC ELECTRICAL PIPE	20mmØ x 3m, Thick Wall, Powerguard, 80 Joules Izod Impact, 5MPa Tensile Strength, 90% K65 Grade resin by mass, PNS 14	piece	10	161.00	1,610.00				
71	SINGLE LEVER LAVATORY FAUCET	W/POP-UP WASTE, 1 Hole, 0.05MPa-0.75MPa Water Pressure, Brass w/ Nickel Chrome Finish, with Complete Accessories including Tail Piece, Stop Valve And Braided Flexible Hose (SEE SAMPLE AT OVCPD)	plece	7	6,670.00	46,690.00				
72	SOLID PHENOLIC BOARD	Oxford Cherry, 6' x 6', Protected w/ Thin Plastic Film Wrap	plece	15	13,800.00	207,000.00				
73	TUBULAR KNOBSET	Stainless Steel Finish for 35mm- 45mm door thickness, Heavy Duty	set	4	547.00	2,188.00				
74	TWO-GANG SWITCH WITH PLATE AND COVER	Recessed, 16A, 220V, branded	set	4	173.00	692.00				
75	UNIVERSAL ANGLE VALVE	1 - supply inlet (1/2" Ø), 2 - outlet (1/2" Ø) with 1 knob for each outlet, heavy duty	plece	16	662.00	10,592.00				
76	URINAL	Wall-hung, Back-inlet, Ceramic, Dimension: L450 x W335 x H665 mm	set	3	11,500.00	34,500.00				
77	URINAL SENSOR	With manual push button; AC/IDC concealed ±1.2 LPF urinal flush sensor; Material; Stainless Steel 304 (Matte Black); Sensing Distance: ±550mm; Consumption: 1.2 LPF can be reduced to 1 LPF; Dimensions: 130 x 130 mm; Water Inlet; G1/2" (External Thread), 1 yr warranty	set	3	23,000.00	69,000.00				
78	UTILITY BOX	PVC, 2" x 4", Deep Type	piece	20	69.00	1,380.00				
79	UTILITY FAUCET	Level Control Plain end, Brass	piece	2	345.00	690.00				
80	WALL ANGLE	12', Powder Coated Finish, Standard	place	35	196.00	6,860.00				
81	WALL TILE GROUT	White, 2kg/bag, premium brand	bag	2	138.00	276.00				
	WASTE CLOTH	Small Round	kg	10	92.00	920.00				
83	WATER CLOSET	elongated, L725 x W410 x H750 mm, Close-coupled front lever type elongated Toilet, Single Flush with volume of 6L, with complete tank fittings, Angle Valve, 1/2"0 F Supply Iniet, 2 Connection Outlets 1/2"0 M and 1/2"0 M, Heavy Duty, braided flexible water supply hose and slow-close anti-bac seat and cover	set	9	10,120.00	91,080.00	E			
	1				TOTAL ABC	990,849.00				
							TOTAL QUOTED AMOUNT IN	WORDS:		

Reviewed and Checked By: Please quote at your government price (Including VAT) and state that the time within which you can make delivery. It will be ap as soon as possible on or before the deadline stated herein. RAUPH M. ROMERO

TERMS AND CONDITIONS:

1. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission.

2. In order to essure that manufacturing defects shall be corrected by supplier, a warranty security shall be required from the contract awardee for a minimum period of three (3) months, in the case of EXPENDABLE SUPPLIES, or a minimum of one (1) year warranty and two (2) to three (3) years extended warranty (if applicable) in the case of NON-EXPENDABLE SUPPLIES after acceptance by End-user of the delivered supplies.

3	Dalinane	period within	calendar days

3. Delivery period within _____calendar days.

4. Award of contract shall be made to the lowest quotation wich compiles with the technical specifications, and other terms and condition stated herein

5. UPLB reserves the right to reject any or all offers as may be considered most advantageous to the University.

6. Any interlineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any of your duly authorized representativelys.

REQUIREMENTS	Shopping (Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9)	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53,6)	Negotiated Procurement- Emergency (Section 53.2)
1 Mayor's/Business Permit	1	1	/	/	1
2 PhilGEPS Registration Number	1	/	/	,	/
3 Professional license/ CV (consulting services)		1		,	
4 PCAB License (for infrastructure)		/			
Income / Business tex returns (except for government agencies as lessor)		FOR ABC'S ABOVE SOOK	1	,	FOR ABC'S ABOVE SOK
6 Omnibus Sworn Statement		FOR ABO'S ABOVE 50K			FOR ABC'S ABOVE 500K
7 NFCC for Infrastructure with ABC above Ph500k		1		MINE PLANTAGE AND	FOR ABC'S ABOVE 50K

The state of the s
_